Formal Geometry

Right Triangle Trig Worksheet
Hints for solving for a variable:
1) Decide what trig function matches your picture.
2) Make an equation. Trig function angle = ratio
3) Solve for the variable.

*Do all work on your own paper!
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Solvinga triangle means to find all of its parts. (3 sides, 3 angles)
Solve the following triangles. Round to 2 decimal places, if needed. 2
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Summary of Methods
If [ know... I should use... to find the...
2 sides the Pythag. Thm. 3rdside
2 sides inverse trig function related angle
Aside and an angle trig function related side
2 angles sum of 180 degrees 3rdangle
For #11-12 use special right triangles. (45-45-90 or 30-60-90). S)mpllfy radical answers.
11. Find sin 30°, sin 60°, tan 30,
10
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For #13 - 14, find the value of xas an exact answer (no decimals.) Use special right triangles!
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16. Based on the figure below, choose all correct ways of solving for x.
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18. A 12 foot ladder is leaning up against the side of a house. The bottom of the ladder is
placed 10 feet from the side of the house. What is the measure of the angle formed by the
ground and the ladder?
R C. 50.2° . 4o
B. 39.8° D. 56.4° ' cos X 5
”r —tfy
12 F+ X = Cos (lO -"I;)
2= 338" 11
lof
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19. A person is standing at ground level with the base of the Empire State Building in New York
City. The angle formed by the ground and a line segment from his position to the top of the

building is 48.4°. The height of the Empire State Building is 1472 feet. Find the distance that 2
) ) . e .- 147
he is standing from the base of the Empire State Building to the nearest foot. ~ h‘. Hg 4 = >
e
q72Ft
A, 8feet C 1968 feet » t _ 147> = |30Q»q°
B D. 2217 feet - ofe Lo 484"
foEe ¢
. X ad) @ N
20. Inaright triangle, one angle measures x°, where sin x° = 5 what is (lis 90 —x°)? 5 o
9P
s 5 ote
s X -

21. Inaright triangle, sin N = 0.‘6. what is cos M?
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22. Given that AABC~ADEF, find c.
e Iy
I = sq
5 ac= [29%

Trig Worksheet ANSWERS
1)634 2) 1359  3) x=9.01; y=17.50 4) x=1893;y=17.16 5) 34.85°  6) 48.01°  7) 5.02
8) x=2.07;y=288 9) 29 90°, 61°,7.00,3.88,8 10) 53.13¢, 90°, 36.87°, 15, 9, 12

m 28 12) 1,22 13)12v2 14) VT3

15) B 16) D 17) D 18) A 19) B

20) g, Hint: draw the triangle and find all sides. Notice that the acute angles are complementary. 4 is the missing side.
21)0.6 22) 22
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